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35 |EKFEERERE)  |0=16n' /b, H=10n, P=1. 1kws EE: .00
20kg, R (E@E+KE) : 064802
BIS: 5T30-1 AR

36 |EKFEEREL) (=200 /b, 6m, P=1. 1k EE: .00
20kg, R (E@E+EE) : 964802
BIS: sT60-1 AR

37 |EKFEEREE)  (0=d0n /b, 6, P=2. 2kw EE: .00
30Kg, R (E@E+EE) ¢ 064878
BIS: ST76-1 HAR:

38 |EKFEERERE)  (0=80n /h, B=11n, P=dkv. EE: 56Ke, . 00
Rt (EERE) : 14341270
BIS: 5175-2 AR

30 |EKEERERE)  (2=1000° /b, H=12. 5n, P=T. Skw ER: . 00
T8Ke, R (EEEE) @ 14301411
218 55P20-8, Hifh:

40 |[RER (Bra#EE)  |Q=200° /b, Hetn, P=1. 6ku; R (BR . 00
) : 954628
EI8: 45P14-9, Hif:

41 |RER (B#EH)  |e=14n’ /b, Hn, P=1. 2kw: R (BR . 00

*FE) : 05%628





